### East Ayrshire Council

## Transfers Report

This report contains the transfers results.

| Contest Name           | Ward 6 - Irvine Valley |
|------------------------|------------------------|
|                        | 1                      |
| Valid Votes            | 4,256                  |
| Positions to be Filled | 3                      |
| Quota                  | 1,065                  |

# Stage 1

| Candidate Name         | Affiliation                        | No. of Ballot Papers |
|------------------------|------------------------------------|----------------------|
| Beverley Michele CLARK | Scottish National Party (SNP)      | 1,309                |
| Sally Jane COGLEY      | The Rubbish Party                  | 787                  |
| Susan MCFADZEAN        | Scottish Conservative and Unionist | 737                  |
| Kevin MCGREGOR         | Labour and Co-operative Party      | 962                  |
| Lee-Anne Margaret TO   | Scottish National Party (SNP)      | 461                  |
|                        | Total                              | 4,256                |

Candidate Beverley Michele CLARK Elected with 1,309 votes, being in excess of the quota of 1,065

This report contains the transfers results.

## Stage 2 - Surplus of Beverley Michele CLARK

| Action                           | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|----------------------------------|-------------------------|----------------|-------------------|
| Transfer to Sally Jane COGLEY    | 76                      | 0.18640        | 14.16640          |
| Transfer to Susan MCFADZEAN      | 11                      | 0.18640        | 2.05040           |
| Transfer to Kevin MCGREGOR       | 69                      | 0.18640        | 12.86160          |
| Transfer to Lee-Anne Margaret TO | 1,108                   | 0.18640        | 206.53120         |
|                                  |                         |                |                   |
| No further preference            | 45                      | 0.18640        | 8.38800           |
| Not transferred due to rounding  |                         |                | 0.00240           |
|                                  | Total                   |                | 244.00000         |

This report contains the transfers results.

## Stage 3 - Exclusion of Lee-Anne Margaret TO

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Sally Jane COGLEY   | 124                     | 1.00000        | 124.00000         |
| Transfer to Susan MCFADZEAN     | 18                      | 1.00000        | 18.00000          |
| Transfer to Kevin MCGREGOR      | 120                     | 1.00000        | 120.00000         |
| Transfer to Sally Jane COGLEY   | 310                     | 0.18640        | 57.78400          |
| Transfer to Susan MCFADZEAN     | 32                      | 0.18640        | 5.96480           |
| Transfer to Kevin MCGREGOR      | 312                     | 0.18640        | 58.15680          |
|                                 |                         |                |                   |
| No further preference           | 199                     | 1.00000        | 199.00000         |
| No further preference           | 454                     | 0.18640        | 84.62560          |
| Not transferred due to rounding |                         |                | 0.00000           |
|                                 | Total                   |                | 667.53120         |

This report contains the transfers results.

## Stage 4 - Surplus of Kevin MCGREGOR

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Sally Jane COGLEY   | 422                     | 0.07633        | 32.21126          |
| Transfer to Susan MCFADZEAN     | 250                     | 0.07633        | 19.08250          |
| Transfer to Sally Jane COGLEY   | 131                     | 0.01422        | 1.86282           |
| Transfer to Susan MCFADZEAN     | 34                      | 0.01422        | 0.48348           |
|                                 |                         |                |                   |
| No further preference           | 410                     | 0.07633        | 31.29530          |
| No further preference           | 216                     | 0.01422        | 3.07152           |
| Not transferred due to rounding |                         |                | 0.01152           |
|                                 | Total                   |                | 88.01840          |

This report contains the transfers results.

## Stage 5 - Exclusion of Susan MCFADZEAN

| Action                          | No. of Ballot<br>Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Sally Jane COGLEY   | 513                     | 1.00000        | 513.00000         |
| Transfer to Sally Jane COGLEY   | 19                      | 0.18640        | 3.54160           |
| Transfer to Sally Jane COGLEY   | 171                     | 0.07633        | 13.05243          |
| Transfer to Sally Jane COGLEY   | 30                      | 0.01422        | 0.42660           |
|                                 |                         |                |                   |
| No further preference           | 242                     | 1.00000        | 242.00000         |
| No further preference           | 24                      | 0.18640        | 4.47360           |
| No further preference           | 79                      | 0.07633        | 6.03007           |
| No further preference           | 4                       | 0.01422        | 0.05688           |
| Not transferred due to rounding |                         |                | 0.00000           |
|                                 | Total                   |                | 782.58118         |